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a<0 L, ts 7] T &2 As BF A=Y

H7]
@ -Va2 =-a © (3a)* = 3a
© W:—Qa ® —-V25a2 =5a
@ 10V100a? = 100a
® 9,0 ONQNG) ® O,

@ 0,60 ® 6,6
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6 V823

V3 V2
@ V32-2v24-V2(1+2V3)=3V2-2+6
® (V63— V35)+ VT =2- 15

=8+3V2

V2 3 V3
12+ 36

© %

=4V3+32
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T a,bol toto] 712 «Eaxb = (H,a, b=az0,

R

a
b#0% w2l )2t & o, oh-F 5 &7 &2 A2?
1
D 1x1=- +2‘/§ @ 2x1=2+ V3
2
@3*2:_3+7\/§ @5*3:_M
3 2
7T+4



7.

o] Zk& ohd?
T 0 1 2
1 1,000 1,005 1,010
2 1.414 1.418 1,421
3 1,732 1,735 1,738
4 2 2.002 2,005
o 2.236 2.238 2.241
6 2.449 2.452 2.454
7 2.646 | 2.648 | 2,650
8 2.828 | 2.830 | 2,832
@® 1414 @ -1.732 ® 1.732
@ -2.449 ® 2.449
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9. o2 3F A2 -x%y—xy?+axy 9 Ad5eE?

@ x-1 @ x+1 @ y+1 @ x+y ® x-y
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3-2v2 3+242

5
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10. «a A 0f, a® + 3ab + b2 ©] FHS FLakol .



